SINGLEWAY CLEATS

Hicen

Telcleat®
385 series

= Suitabie for use with cable diameters 10 to Simm.
= Manufactured from Low Density Polythene.

= Overlapping self-adjusting ranges.

= Sunlight (UV) and weather resistant.

» One piece, single fixing design.

= Can be double stacked on a single fixing.

= Operating tempersture -40°C to +60°C.

= Tested in accordance with BS EN 50368,

Technical Data

A (mm) ; 8 € D ‘Weight(g) masonsy, concrete orwood for Cable

Min  Max Min  Max Mx insx No mm

385AAD) VS WS 100 B 18 S@ M 23 Tvexg M4 x30
205AA02 122 167 100 P 2 3% u 34 1¥xg M4x 35
28SAA03 We 198 100 N ® 43 B 55 1%x g M4 x 40
28SAAD4 77 240 50 I (B~ 8E 2x8 M4 x 45
28SAADS 27 285 % 0 ¥ w20 124 21 MEx 50
28SAN0E 262 42 3B 43 65 %4 2wx 2 MEX 60
IBCAADT N9 48 10 £ 2 78 % 2 2%y ME X70
28SANOE T B 10 S0 &2 9 % 3} Ity MEx 80

Mathod of Fixing

Tha cleat is cpened up and placed srcund the cable =o that the end of the clkat contsining the slot will be in contact with the meunting
surface, xcept for the 3830000, which should be reversed to put the =iot uppermost. in this ca=e 3n MSwashor should be used to
pravent the mut entoring the siot of the cdeat.

When meounting directly on channs! saction an adapter plate shodld be used (please see page 39).

Performance Data /—\ i
EN SD268:2003
. m ‘B.24Heawy -> 6.25V. Haawy
l.m Lﬂl 0188 -> ONSRN C
Axial Load 0.045-> 1118 kN
Needle Flame >E0secs
¢ Tachoiad Infamancn scbiact Lo Lhanee Without node
'




Hicen

Afumex Telcleat®
(LSOH) 385 series

= Suitable for use with cable diameters 10 to Simm.

= Manufactured from LSOH polymer.

= Designed for use with Afumex LSOH and Saffire OHLS cables.
» Overlapping self-adjusting ranges.

= Sunlight (UV) and weather resistant.

= One piece, single fixing design.

= Can be double stacked on a single fixing.

= Operating temperature -40°C to +40°C.

» Testad in accordance with BS EN 50368.

= LUL approved product register |D 1255,

- mﬂ
Technical Data Afumex SAFFIRE
A {mm) Quanities g c 0  Weight{g) masonry, toncresearwood  for Cadle Tray
Mn Max Min Max Max Insx No mm
3ASLSFO s us 0o 15 18 32 12 33 1Vxg M4x 30
385LSFO2 22 ®7 30 v 2 ® 4 56 Wixg M4 x35
385LSFO3 KHe 1e 0o 4| 2& 43 i3 a5 1¥xg M4ax 40
385LSF04 77 240 S0 25 3 <1 3 147 2x 8 M4ax4s
3BSLSFOS nz 285 25 30 g 57 20 204 2%x12 ME x 50
238SLSFOE 62 242 2% ¥ 43 8 2 22 2% 12 M5 x50
3I8SLSFO7 N9 416 10 42 g2 78 25 367 2%x12 Mex 70
385L5FO8 393 51 10 50 &2 @ 2% sl Jvex 12 M&x 80
Mathod of Fixing

The clest & cpened up and placed around the cable so that the end of the dest containing the skot will be in contact with the mounting
surface, excegt for the 38505701, which should be reversed to put the dot uppesmost. in this case an MS washer shoudd be used to
prevent the nut entering the siot of the deat.

When mounting directly on chanmeol section an adaptor plste should be used (please see pags 33).

Performance Data

Axial Load 0MN9-> 1.024 kN
Needle Flame >120 secs I A

== ] \I

4
D
—
o
>
<
=
w
—J
2
-
o




